BHEYMEEME - TEERREE

RR214E (HAL 2 h s %)

IBAT (3= 2 & FE &R |eiER R B | OB M F M| SE Akt

= | 16, 723,565] 78.9(100.0 & £t 16, 723,565 78.9/100.0
1 @A W ® g 4,587,713[109.5] 27.4|[ 1 (1D |F #El 3,380, 375 82.2| 20.2
2 (|= i 3,544,955 84.5| 21.2[2 (5) I | 1,751,381 115.7| 10.5
3 )| Bk B ®) = 1,464,582 52.3| 8.83 (2)[H | 1,613,178| 81.3| 9.6
4 (6 |H A & S| 1,044,461 95.2| 6.2[4 (3) | k| 1,376,675 72.9] 8.2
5 (7) |8 M 802,714 73.4| 4.8||5 (4|4 i | 1,336,693 72.5| 8.0
6 (4)|BE + b 762,760| 49.2| 4.6[6 (6)|& ® A 905, 053| 64.4| 5.4
7 (6| il 722,308( 55.4| 4.3[7 (9)|FE = 701, 738( 81.3| 4.2
8 ®W F - W 610,124 61.5| 3.6[8 (10)|H T @ f 558,200(104.1| 3.3
9 (9) | By 42yt 0 s £ 538, 458[100.8] 3.2[[9 (8) |/ 4 i 471,014 51.6] 2.8
1002/ # H & M 348,862| 79.2| 2.1fl10 (T |= i 410, 320 35.0| 2.5

10 & fE A& FH 14, 426,937| 79.3| 86.3 10 ¥ & FH 12,504,627 77.0| 74.8

5 D fin| 2,296, 628| 76.7| 13.7 z D fih| 4, 218,938| 85.1| 25.2

(E) MEGZ> () P, RiTFEONARL,

BAEMEEME - TEERREE

VRR214E (HAL 0~ s %)

BAT (3= 2 & FE &R |eiER R BN | OB M F M| SE Akt

= | 23, 765,297 82.2[100.0 & &t 23, 765,297| 82.2[100.0
()R il 9,522,400 87.0| 40.1ff1 (D= Al 9,521,900 87.0[ 40.1
2 @ R - #Y 2,642,786 73.9[ 11.1f|2 B i 2,363,032[132.2] 9.9
3 B A » B 2,173,164| 76.8] 9.1)|3 (2)|% iy & 1,868,421| 75.1| 7.9
4 (DA | 1,941, 771|159. 3| 8.2)4 (D|F #E1,843,440| 81.2[ 7.8
5 WA W ® | 1,692,152 64.8] 7.1)|5 (3)|K Ld A 1,780,373 75.6[ 7.5
6 (6)|5¢ Bk B B =H| 1,599,779| 75.0] 6.7|6 (6)|H I 723,396| 80.3| 3.0
7 (5|4 Ml 1,117,079 47.3[ 4.7 7 (9) X H 546,824 99.4| 2.3
8 ®l & ® M 988,922(116.9| 4.2||8 (7)|H UN ;7 424,348 70.6| 1.8
9 (9)|®E T 704,473 84.1| 3.0ff9 (13)|= i) 326,800 74.0| 1.4
10 (10) [ JX el 330,368 92.1| 1.4][10 (15) |FE = 323, 111| 83.1| 1.4

10 & fE A& FH 22,712,894 81.9| 95.6 10 # & &k 19,721,645) 86.8| 83.0

a D fin| 1,052,403| 88.5| 4.4 z ) fth| 4,043,652 65.4| 17.0

(E) MEGZ> () P, RiTFEONARL,

-18 - ST0EHESHI R (FHR21E) BERBLR



